SAE 522

FUS SAE =k —1506162-1/-2

LA

L1 X

At

N 1lals

\ SIS

AL
L2 )

L3
3000 PSI &3
EZRA 1218 =2 THEES (bar)
SAE | ISO (BB 4M)

(in) (ODN) | D1 | D2 | L1 | L2 |L3 | LA | LB | LX | LY | DB | (%)) (ER) | T/ iTHRS* CF | SS
1/2 13 | 243| 310 62|13 |19 | 46 | 54.0{17.5| 38.1| 8.8 | M 8x25 [5/16x11/4| 0.15 FUS32 345 | 345
3/4 19 | 32.2| 389 62| 14 | 22 | 52| 65.0/22.3| 47.6 [10.5 | M10x30 | 3/8x1 1/4| 0.17 FUS33 345 | 345
1 25 | 385| 452| 75|16 |24 | 59 | 69.9/26.2 | 52.4|10.5 | M10x30 | 3/8x11/4| 0.22 FUS34 345 | 345
11/4 32 | 437| 516| 75|16 |22 | 73 | 79.4/30.2| 58.7 [10.5 | M10x35 —-| 0.30 FUS35/10 |276|276
11/4 32 | 43.7| 516| 75|16 |22 | 73 | 79.4/30.2| 58.7|12.0 | — 7/16x1 1/2| 0.29 FUS35/12 | 276|276
11/4 32 | 43.7| 516| 75|16 |22 | 73 | 79.4[30.2 | 58.7|12.5 | M12x35 -] 0.29 FUS35 276 | 276
11/2 38 | 50.8| 61.1| 75|16 | 25 | 83 | 93.8/35.8 | 69.9|13.5 | M12x35 | 1/2x11/2| 0.45 FUS36 207 | 207
11/2 38 | 50.8| 61.1| 75|16 | 25 | 83 | 93.8/35.8| 69.9 [14.5 | M14x35 —| 044 FUS36/14 | 207|207
2 51 | 62.8| 72.3| 9.0| 16 | 26 | 97 |[101.6|42.8 | 77.8 [13.5 | M12x35 | 1/2x1 1/2| 0.50 FUS38/12 |207|207
2 51 | 62.8| 72.3| 9.0| 16 | 26 | 97 [101.6/42.8 | 77.8|14.5 | M14x35 —-| 049 FUS38 207 | 207
21/2 64 | 74.9| 84.9| 9.0| 19 | 38 | 109 [114.3/50.8 | 88.9 |13.5 | M12x40 | 1/2x13/4| 0.74 FUS310 172172
21/2 64 | 749| 849| 9.0| 19 | 38 | 109 [114.3|50.8 | 88.9 |14.5 | M14x40 -1 073 FUS310/14 |172|172
3 76 | 90.9(102.4| 9.0| 22 | 41 | 131 |135.0{61.9 [106.4 [17.0 | M16x45 | 5/8x13/4| 1.30 FUS312 138|138
31/2 89 [102.4|115.0|10.7| 22 | 28 | 140 [152.4|69.9 [120.7 |17.0 | M16x45 5/8x2| 1.50 FUS314 34| 34
4 | 102 |115.1(127.8|10.7| 25 | 35 | 150 |162.0| 77.8 |130.2 |17.0 | M16x50 5/8x2| 1.65 FUS316 34| 34
5 | 127 [140.5(153.2|10.7| 28 | 41 | 180 [184.2(92.1 (152.4 |17.0 | M16x50 | 5/8x2 1/4| 2.50 FUS320 34| 34

6000 PSI %71

12 13 246| 325| 72|16 |22 | 48 | 56.4|/18.2| 40.5| 8.8 | M 8x30 |5/16x11/4| 0.16 FUS62 420|420
3/4 19 325| 420| 83|19 | 28 | 60 | 71.4/23.8| 50.8 [10.5 | M10x35 | 3/8x11/2| 0.35 FUS63 420|420
1 25 38.8| 484| 90|24 |33 | 70 | 81.0/27.8| 57.2 {13.0 | M12x45 —-| 0.53 FUS64 420 | 420

1 25 389| 484| 90|24 |33 | 70| 81.0{27.8| 57.2 (120 | — 7/16x1 3/4| 0.53 FUS64/12 | 420 | 420
11/4 32 445| 54.8| 98|27 |38 | 78 | 95.3|31.8| 66.6 |[15.0 | M14x50 —-| 0.80 FUS65 420|420

11/4 32 445| 548| 98|27 | 38 | 78 | 95.3|31.8| 66.6 |13.5 | M12x45 | 1/2x13/4| 0.80 FUS65/12 | 420 | 420
11/2 38 516| 64.3|12.1| 30 | 43 | 96 [112.8/36.5| 79.3 [17.0 | M16x55 | 5/8x21/4| 1.35 FUS66 420 | 420
2 51 67.6| 80.2|121| 37 | 52 | 114 (133.4|/44.5| 96.8 [21.0 | M20x65 | 3/4x2 3/4| 2.10 FUS68 420 | 420
21/2 64 90.0|108.9|20.5| 45 | 45 | 150 | 180|58.7 |123.8 [25.0 | M24x75 —-| 4.10 FUS610 420|420
3 76 [115.0(132.5|255| 55 | 55 | 178 | 215|71.4 {152.4 |32.0 | M30x90 —-| 8.60 FUS612 420 | 420

“ERIEREAAIE R BRI &

TSRS
R} FELE i i: e
Rewti
BN, TANERIESE CF FUS32CFX k=
TN SS FUS32SSX %=

m H9 FEERAEZR 4100/CH



ShE it

FUSM SAE ;=R A#ls#E3 —15S06162-1/-2

L1

PR
D1
D2

ap= L
L2
L3
3000 PSI &3
EZR £ TIERE (bar)
SAE ISO (BB 4M)
(in) (DN) D1 D2 L1 L2 L3 LA LB LX LY T1 T/t TS CF | SS
1/2 13 243 | 310| 62| 13 20 46 | 540|175 | 381 | M 8 0.15 FUSM32 345 | 345
3/4 19 321| 389| 62| 14 22 52 | 65.0| 223 | 47.6 | M10 0.17 FUSM33 345 | 345
1 25 385| 452 | 75| 16 24 59 | 69.9| 262 | 52.4 | M10 0.22 FUSM34 345 | 345
11/4 32 437 | 516| 75| 16 22 73 | 794 | 302 | 58.7 | M10 0.30 FUSM35/10 | 276 | 276
11/4 32 437 | 516 | 75| 16 22 73 | 79.4| 302 | 58.7 | M12 0.29 FUSM35/12 | 276 | 276
11/2 38 508 | 61.1| 75| 16 25 83 | 93.8| 357 | 69.9 | M12 0.45 FUSM36 207 | 207
11/2 38 508 | 61.1| 75| 16 25 83 | 938 357 | 69.9| M14 0.44 FUSM36/14 | 207 | 207
2 51 628 | 723 | 9.0 | 16 26 97 [ 1016 | 429 | 77.8 | M12 0.50 FUSM38/12 | 207 | 207
2 51 628 | 723 | 9.0 | 16 26 97 [ 1016 | 429 | 77.8 | M14 0.49 FUSM38 207 | 207
21/2 64 749 | 849| 90| 19 38 109 | 114.3 | 50.8 | 88.9 | M12 0.74 FUSM310 172 | 172
21/2 64 749 | 849 | 90| 19 38 109 | 114.3 | 50.8 | 88.9 | M14 0.73 FUSM310/14 | 172 | 172
3 76 909 1024 | 90 | 22 41 131 |135.0 | 61.9 | 106.4 | M16 1.30 FUSM312 138 | 138
31/2 89 [1024 [ 1150 | 10.7 | 23 28 140 | 152.4 | 69.9 | 120.7 | M16 1.50 FUSM314 34| 34
4 102 | 1151 [127.8 | 10.7 | 25 35 150 [162.0 | 77.8 | 130.2 | M16 1.65 FUSM316 34| 34
5 127 | 1405|1532 | 10.7 | 28 41 180 [184.2 | 921 | 1524 | M16 2.50 FUSM320 34| 34
6000 PSI &7l
1/2 13 246 | 325| 72| 16 22 48 | 564 | 182 | 405 | M 8 0.16 FUSM62 420 | 420
3/4 19 325| 420| 82| 19 28 60 | 71.4 | 238 | 50.8 | M10 0.35 FUSM63 420 | 420
1 25 389 | 484 | 90| 24 33 70 | 81.0| 278 | 57.2 | M12 0.53 FUSM64 420 | 420
11/4 32 445| 548| 98 | 27 38 78 | 953 | 318 | 66.6 | M14 0.80 FUSM65 420 | 420
11/2 38 516 | 643 | 121 | 30 43 96 | 1128 | 365 | 79.3 | M16 1.35 FUSM66 420 | 420
2 51 676 | 802 | 121 | 37 52 114 | 1334 | 445 | 96.8 | M20 2.10 FUSM68 420 | 420
21/2 64 90.0 | 1089 | 205 | 45 45 150 |180.0 | 58.7 | 123.8 | M24 4.10 FUSM610 420 | 420
3 76 | 115.0 | 1325 | 255 | 55 55 178 | 215.0 | 71.4 | 152.4 | M30 8.60 FUSM612 420 | 420

“ERIEREAAIE R BRI &

TSRS
R} FELE i i: e
Rewti
BN, TANERIESE CF FUSM32CFM k=
TN SS FUSM32SSM %=

m H10 Pt 4100/CH



FHSF SAE FEx=H —1S06162-1/-2

LA
L L1 LX
\
| o
o U
|
- | N
11l ala > @
R -
2l @ DB
3000 PSI &3
EZR 1212 S THERES (bar)
SAE | ISO (5 5)
(in) (DN) | D1 | D2 | L1 | L2 | LA | LB | LX | LY | DB () (ZEH) T/t TS CF | SS
1/2 13 [243|31.0( 62 | 13 |228| 56| 87(38.1| 90| M 8x25 |5/16x11/4| 0.06 FHSF32 345 | 345
3/4 19 |32.1389|62 | 14 [259| 65| 11.1|47.6|11.0| M10x30 | 3/8x11/4| 0.07 FHSF33 345 | 345
1 25 [385|453| 75| 16 |29.2| 70 |13.1|524|11.0| M10x30 | 3/8x11/4| 0.10 FHSF34 345 | 345

11/4 32 |43.7|516] 75 | 16 |36.6| 79 |15.1|58.7| 11.0 | M10x35 - 0.15 FHSF35/10 276 | 276
11/4 32 |43.7|516| 75 | 16 |36.6| 79[15.1]|58.7/12.5| M12x35 | 7/16x11/2 0.14 FHSF35/12 276 | 276

112 | 38 [508|61.1] 75 | 16 |41.1| 94 [17.9]69.9[13.0] M12x35 | 1/2x11/2| 0.18 FHSF36 207 | 207
112 | 38 |50.8|61.1| 75| 16 |41.1| 94 [17.9]| 69.9|14.5 | M14x35 - o047 FHSF36/14 | 207 | 207
2 | 51 |62.8|723]90 | 16 |48.2| 104 |21.4| 77.8{13.0| M12x35 | 1/2x11/2| 0.22 FHSF38 207 | 207
2 | 51 |628|723|90 | 16 |482| 104 |21.4| 77.8[14.5| M14x35 - 021 FHSF38/14 | 207 | 207
21/2 | 64 |74.9]84.9| 9.0 | 19 |53.0| 114 | 25.4| 88.9|13.5| M12x40 | 1/2x13/4| 0.58 FHSF310 172 | 172
21/2 | 64 |749]84.9] 90 | 19 [53.0] 114 [25.4] 88.9[14.5| M14x40 0.57 FHSF310/14 | 172 | 172

3 76 |90.9 [102.4| 9.0 | 22 |64.3| 135 | 31.0(106.4| 17.0 | M16x45 5/8x1 3/4 0.98 FHSF312 138 | 138

6000 PSI %71

12 13 |246|325| 72 | 16 |236| 56| 9.1|405| 9.0| M 8x30 |5/16x11/4 0.08 FHSF62 420 | 420
3/4 19 |325|420| 83 | 20 (300 71| 11.9|50.8|11.0| M10x35 3/8x1 1/2 0.16 FHSF63 420 | 420
1 25 |38.8|48.4| 90 | 25 |34.8| 81|13.9|57.2|13.0 | M12x45 - 0.25 FHSF64 420 | 420
11/4 32 |445(548] 98 | 27 |38.6| 95159 66.6|15.0 | M14x50 1/2x1 3/4 0.34 FHSF65 420 | 420
1172 38 |51.6|643|121| 30 |[47.5| 113 |18.3| 79.3|17.0 | M16x55 5/8x2 1/4 0.55 FHSF66 420 | 420
2 51 67.6 | 80.2{12.1| 37 [56.9| 133 | 22.2| 96.8|21.0 | M20x65 3/4x2 3/4 1.02 FHSF68 420 | 420

“ERIEREAAIE R BRI &

TSRS
R} RELE i i:3u
Rwtgt
BN, T NERIESE CF FHSF32CF |[{i=hH
TN SS FHSF32SS |[{i=hH

m H11 FEERAEZR 4100/CH



ShE it

FUSF SAE FEx=H —1S06162-1/-2

LA
L1 LX
i _ o
AV
- | &N
mrals 5|3
L2 DB )
I L
3000 PSI &3
EZR 1212 S THERES (bar)
SAE | ISO (55
(in) (DN) | D1 | D2 | L1 | L2 | LA | LB | LX | LY | DB () (ZEH) T/t TS CF | SS
1/2 13 [243|31.0( 62 | 13 | 46| 56 |[174(38.1| 90| M 8x25 |5/16x11/4| 0.13 FUSF32 345 | 345
3/4 19 |321389|62 | 14 | 52| 65|22.2|47.6|11.0| M10x30 | 3/8x11/4| 0.15 FUSF33 345 | 345
1 25 [385|453| 75| 16 | 59| 70|262|524[11.0| M10x30 | 3/8x11/4| 0.21 FUSF34 345 | 345
11/4 32 |437|516| 75| 16 | 73| 79|30.2|58.7|11.0| M10x35 |7/16x11/2| 0.31 FUSF35/10 | 276 | 276
11/4 32 |437|516| 75| 16 | 73| 79|30.2| 58.7|12.5| M12x35 -| 028 FUSF35/12 | 276 | 276
11/2 38 |508 (61175 | 16 | 83| 94 |358|69.9(13.0| M12x35 | 1/2x11/2| 0.35 FUSF36 207 | 207

1172 38 |508|61.1| 75 | 16 83| 94 |358|69.9|14.5| M14x35 - 0.33 FUSF36/14 207 | 207
2 51 62.8 723 9.0 | 16 97 | 104 | 42.8| 77.8{13.5| M12x35 1/2x11/2 0.43 FUSF38/12 207 | 207

2 51 62.8 723 9.0 | 16 97 | 104 | 42.8| 77.8{ 145 | M14x35 - 0.41 FUSF38 207 | 207
21/2 64 |749[849| 90 | 19 | 109 | 114 | 50.8| 88.9[13.5| M12x40 1/2x1 3/4 1.15 FUSF310 172 | 172
212 64 749|849 90 | 19 | 109 | 114 | 50.8| 88.9| 14.5 | M14x40 - 1.43 FUSF310/14 | 172 | 172

3 76 |90.9(102.4| 9.0 | 22 | 131 | 135 |61.9(106.4| 17.0 | M16x45 5/8x1 3/4 1.95 FUSF312 138 | 138

6000 PSI %71

12 13 |246|325| 72 | 16 48 | 56 | 18.2] 40.5| 9.0| M 8x30 |5/16x11/4 0.15 FUSF62 420 | 420
3/4 19 |325|420| 83 | 20 60 | 71|23.8|50.8|11.0| M10x35 3/8x1 1/2 0.31 FUSF63 420 | 420
1 25 |38.8|48.4| 90 | 25 70 | 81|27.8|57.2|13.0 | M12x45 - 0.49 FUSF64 420 | 420
11/4 32 |445|548| 98 | 27 78 | 95|31.8|66.6/15.0| M14x50 1/2x1 3/4 0.67 FUSF65 420 | 420
1172 38 |51.6|64.3|12.1| 30 95| 113 | 36.5| 79.3[17.0 | M16x55 5/8x2 1/4 1.08 FUSF66 420 | 420
2 51 67.6|80.2{121| 37 | 114 | 133 | 44.5| 96.8|21.0 | M20x65 3/4x2 3/4 2.03 FUSF68 420 | 420

“ERIEREAAIE R BRI &

TSRS
R} RELE i i:3u
Birgt
BN, T NERIESE CF FUSF32CF |[{%=
TN SS FUSF32SS [{iix=

m H12 FEERAEZR 4100/CH



